
320 S.W. 18th St.  •  Edmond, Oklahoma 73013  •  (405) 340-3434  •  FAX: (405) 340-3435  •  E-mail: pelco@pelcoinc.com
SECTION 2 BULLETIN NO. 128  1/18/99

TETHER ASSEMBLIES

17

19
20
21

10

20

16

15

8

10

19

24

21

12

20

23

22

1 BREAK-A-WAY TETHER ASSY., Tri Stud ............................................... SE-5050
2 BREAK-A-WAY TETHER ASSY, Single Stud ........................................... SE-5058
3 BREAK-A-WAY TETHER ASSY., 1½" ..................................................... SE-5121
4 ADJUSTABLE BREAK-A-WAY TETHER ASSY., Tri-Stud ............. SE-5049-L
5 ADJUSTABLE BREAK-A-WAY TETHER ASSY., Single Stud ....... SE-5017-L
6 ADJUSTABLE BREAK-A-WAY TETHER ASSY., 1½" ................... SE-5106-L
7 BREAK-A-WAY TETHER ASSY., Steel, 1½" Pipe .................................. SE-3055
8 TETHER EXTENDER ASSY., (Specify Length) .................................... SE-5051-L
9 HANGER BODY, Tri-Stud ............................................................................... SE-0512
10 HANGER BODY, Single Stud ......................................................................... SE-0438
11 HANGER BODY, 1½" ..................................................................................... SE-0530
12 HARDWARE KIT W/O Gasket, 5/16"-18 ........................................................ SE-5035
13 HARDWARE KIT, Single Stud, 5/16"-18 ......................................................... SE-5064
14 ALLTHREAD, Alum., 1" x 2-1/8" .......................................................... SE-0309-2.125
15 TETHER PLATE, Single Hole ......................................................................... SE-0510
16 EXTENDER (Specify Length) ....................................................................... SE-0507-L
17 BOLT, Hex. Hd., 5/16"-18 x 1½", Stainless .................................................. FS-2025-SS
18 FENDER WASHER, 5/16" ............................................................................ FS-4003
19 LOCKWASHER, 5/16", Stainless Steel .................................................. FS-4201-SS
20 NUT, Hex., 5/16"-18, Stainless Steel ........................................................... FS-1001-SS
21 BOLT, Hex. Hd., 5/16"-18 x 1¼", Stainless Steel ......................................... FS-2019-SS
22 U-BOLT, 5/16"-18 x 3-3/4" x 2-1/6" x 2" .............................................................. FS-2502
23 TETHER PLATE, Steel ................................................................................... SE-0410
24 TETHER BRACKET, Steel ............................................................................ SE-0414
25 NUT, Jam, 5/16"-18 .............................................................................................. FS-1101
26 FLATWASHER, 5/16" ...................................................................................... FS-4101
27 NUT, Elastic Stop, 5/16"-18 ................................................................................. FS-1900

ITEM DESCRIPTION PART NO.

25
26

1

3

2

4

17
18
19
20

20

15

9

20

18

18

13

9

15
18

19

19

8

7

NOTES:
1. PLEASE SPECIFY COLOR WHEN ORDERING.
2. SPECIFY LENGTH OF EXTENDER FOR ITEM 2, or 3.

(TYPICAL LENGTHS ARE 11", 19" & 72")

5

6
12

13

19
20
21

27

17

19

11

14

15

17

11
14

8




